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Sectior-A

(a) State eno(s) if any, in each of the following code

segments : 1x5=5

(i) int main ( )

{

const double P1;
int n,
p1 = 3.141;
a=2;

)

(ii) class fun
{ Private:

Public:
-fun (int x ),

)

(iii) int mYfunl ( int x,

{

int mYfun2 ( int
{

v

x

intt:
return ( r ),

)

return
)

v,

2
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(iv) In the following code segment, assume that
Myclass is the base class and yourclass
is the derived class

MyCIass obL;
yourClass ob2;
ob2 = ob1,.

(v) class A{ l;
class Bi l;
void myfunction O throw ( A )

{

throw B O ;
)

(b) Givg the output that will be produced on execution of
each ofthe following program segrnents: 2x5=10(i) t

string strl = "Oelhi ";
string str2 = "De1hi1',;
1nt i = str1. compare
(0,3, str2,0,3) ;

cout << i << endl;
)

(ii) string strl "The c++
standard";

int
int

J-

l
- strl . f ind ('rc,') i
= strl . rfind ( "c') ;

3 P.T.O.
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cout << i << " '' << j << endl;

(iii) int x = 3 , ! = 4 , z = 5t

if ( x < y++) ll ( z++ > 0)

cout << x << " " <<y<<" n <<zi

{

for(inti=0;i<8;i++)

if ( i*2 == 0)

cout << i+1 << endl
else if (it3 -= O) continuei

else if (it5 == 0) break;

cout << " end of 1ooP" (( endl;

)

cout << "end of Prog" <( endl;

)

(v) Assuming x1, x2 , x3 are integer variables , give

the output in each of the following two cases

(considereachcase indqendently) ardjusifypur

answer,

if (x1)

{

4
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' Lf (xzl
if (x3)

x2=3,
el se

x3=3;
cout << x1 <(" '<(x2(("

" << x3;

Case I : ifxl=0,x2=landx3=0
Case 2 : ifxl=l, :€ =Oandx3 - 1

(c) Give lhe ornptonorecrtrion oflb following program

segrned: 4

inta=5;
intb=8;
int c;

int* p1= &b,

int* p2,

int * p3;

p2 = pL;

pJ = &ci

5 P.T.O.



7401

h1 : ...

*p2 = 8;

*n? : *nl .
}?L '

*p3 = a + *p2 + *(&c) ;

cout << *p1 << rr r' << *p2 <<,, tt

<< *p3 << *p1 + *p2 << endl;

(d) What for do we use key word cons t at the end ofa
fimctionheader? 2

(e) Whatwill bethevalue of z on e><ecutionof the following
statement if : 2

. x : 4 , Y : 4:

z=(x<y?1:(x:y?0:2));

(f) Write C++ statements to iUustrate how input output

sream flags can be used to produce the output that is :

4

O leftjustifid

C0 riehtjustified

6
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(g) If the value of x = 3 and y = 5, what will be the
values ofx and y on evaluation ofeach ofthe following
expressions independently ? 4

0) x+++y
(ii) ++x + 4

(iii) -x + y++

(iv) --x+--y

(h) ifx = 5, y: 0, and z = -2, what will be
the valne ofthe following expressions : 4

G) x && y ll z

(ii) (x ll y ) && z

Scction - B

(a) h lhe following code, point out the statements in $fiich
copy constuctor will be called- 4

cl-ass Rational

{

private :

int num, den;

public:
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Rational O { }

Rational (int n , int d) : num(n),den
(d)

{}
Rational- (const Rational& r)3
num(r.num), '

den(r.den)

i

CALLED\nu;
"COPY CONSTRUCTOR

)

l

Rationaf f (Rationa1 r

{

Rational- s = t;

return s;

)

void main ( )

{

8
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Rational x(22,71;

Rational y (x) ;

x = f (y)

)

What arc abstact classes ? Illustzle the use ofabstact

classes with an example. 6

How is frmction overloading different from ftmction

overriding ? Give an example ofeach. 4

Write a prograrn to read an integer n, followed by n

integers. Compute the average ofthese numbers. The

progmm should throw an exception for the following :

6

(i) n is zero

(ii) nisnegative

The program should be able to handle any
otJrer exception thrown.
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4. (a) Write a function checksorted that accepts two

parameters 6

(i) Size ofan innegsr arraY

(ii) An araY ofintegsrs

The function checksorted should retum
true if input array is sorted in descending

order and false ottrerwise.

(b) WhatwiX be the orfrputon orecrtion ofthe following

prcgram;

class ComPute

t
virtual int
{

return
)

int add (int

{

return a

)

);
Class SimPle:

{

4

add(inta,lntb)

a+b

a,intb int c

+b+ci

public Compute

10
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virtual int add ( int
(

,return a + b + 2

)

Ii
void main( )

{

Compute obli
Compute * pi
Simple I ob3;
P =: iob3,;

p=&ob1;
p-> add(4,5 )

a, int b)

;l

cout << p-> add
cout << ob1 . add
cout << ob1 . add
return;

(6, 7 1;
(70,20);
(10, 20, 301 ;

)

5. (a) Define a class fraction having data members
numerator and denominator. Write member
fimctionsto dotbe following: 6
(i) create an object frl forthe fraction 5/?

11
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(ii)increment the fraction using postfix operator r-+

(using operaror overloading),

fr++ should update frto 12 /'1 , by modifying

the value ofthe numerator .

(b) Write a C++ program that reads a text Iile

f 1 . txt and creates another file f2 . txt so

ttrat every sequence of consecutive blank

spaces in f1 .txt is replaced by a single

character ' e ' in tJre output file f 2. txt.
4

L2

6. (a) If strl and str3 are C+ strings, write C++

statements forthe following: 4

(i) to obtain the substring s t r 3 comprising the ftst

four characters ofs t r 1

(ii) to find ttrc position ofthe first occunence of st 13

inthe sfing strl-
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(iii) to find tl,.e second occurrence of the

string str3 in strl 
..

(b) Write aEogramto ctede aclass calledPersonhaving

the following data member: (i) Aadhar No,

Name, birth-year . Write a following frmc-tia

to:

(it cree anobj*t forapersonus;ng paramet€rized

constsurtq.

(ii) calculate-age which accapts as ioput

paramet€r the curFed year md calculates the

person's age in years'

(iii) aisplay to prirrt dl tu d€tdils for a given objct

ofthe class along with the calculst€d aSe'

7. (a) class demo

publ ic :

static int obj ectcount;

13 P.T.O.
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i -+ ^ -

demo (int k)

{

a=ki

cout << ++obj ectcount

)

t;
j-nt demo :: . objectcount =

void main ( )

{

demo ob1 ( 4 ), ob2 ( S ),

<<demo: : obj ectc<5unt;

<< a;

0;

ob2( 6 );
created"

) 6

@) Give tbe orertr on the execrsion ofthe following code :

4
class myClass
{

I4
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intx,y;.
public:
myclass (int x1, int Y1)

{

x = x1i
t=vI;

)

friend int sum (mYCIass ob1)

{

i-nt z ;
z = ob1.x + ob1.y ;

return z;
)

void increment ( )

{

x t+i
y ++;

cout << x << Y;

)

void main o
{

int y1 ;

15 P.T.O.
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500

)

myclass ob1 ( 4, 5 );
yI- sum (ob1);
cout << y1;
obl . increment O ,

16


